
ΠΙΝΑΚΑΣ ΑΝΑΚΕΦΑΛΑΙΩΣΗΣ 

Κανόνες παραγώγισης 
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(g o f)'(x) = g'(f(x)) f '(x) 

 

 

Παράγωγοι βασικών συναρτήσεων Παράγωγοι σύνθετων συναρτήσεων 
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(ηµx)' = συνx (ηµf(x))' = συνf(x)·f '(x) 

(συνx)' = - ηµx (συνf(x))' = - ηµf(x)· f '(x) 
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(ex)' = ex ( )f (x ) f (x)e e f (x)′ ′= ⋅  

(αx)'  =αx · lnα          ( )f (x) f (x) ln f (x)′ ′α = α ⋅ α ⋅  

( x t )' =  τ ·x t - 1 ,    t∈R,   x  > 0 [ ]( ) [ ]t t 1f (x) t f (x) f (x)−′ ′= ⋅  

 


